UP Police Constable Question Paper 31 Aug 2024 1st Shift
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The quarterly newspaper “Cyber Pravah™ is an initiative launched by which Ministry ?
(A) Ministry of Culture '

(B) Ministry of Defence

(C) Ministry of Home Affairs

(D) Ministry of Youth Affairs and Sports

5 T ST Sedted Ifier & St SYETERAT i ot g SeisT Gavit S $Het = 9T T 9Sar & |

(A) Tl (B) wE=H IRt < GreaceitE (D) SitedeE
1 involves online harassment where the Ej:r is subjected to a plethora of online messages and
emails.
e , o

(A) Phishing (B) Identity theft EC.‘) Cyberstalking (D) Botnets

5. sfusaft i wEar i 1am % varEn + o 2021 4 T3 =irare wiifer Qe & st i aray o7 2
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(C) HeTE THHTE (D) o HTET 1T 3t et v
Who was awarded the Nobel Peace Prize in 2021 for the efforts to protect freedom of expression ?
(A) Greta Thunberg (B) Abiy Ahmed
(C) Malala Yousafzai d D) Maria Ressa and Dmitry Muratov
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Gy onality ?

(A} derdtard (B) w4 : i of political ratio 1va

Who among the following propounded the ‘Saptanga .rhc{n:?;rﬂkﬂ (D) Kautily

(A} Tulsidas (B) Manu (©)

R WY1 % I WeA ) a7 oy AR 2 3 el (D) oo i J
(A) foe wes (B) e @ () fam _ it (
What is the Uttar Pradesh Upper House known as% idhan M andali (D) Vidhan '
(A) Vidhan Mahal (B) Widhan Sabha ./ (C) Vi 'ﬂﬂhmg 2

i : Sreri ) S ST 1 G HB

Frrferfias & & .01 o ien s

(A) TR STETTHIVE i} o Teeefta atem
(B) =& U Wt et @ vl wor 30 WAR U8
T e et &, = 3k e foeet oft L
(©) ﬂ%@ﬁﬁmﬁm%ﬁmﬁﬂﬁ%ﬁwﬁa Rk
SR el o T form ST R |
(D) %ﬂm%ﬁﬁmwﬁﬂmﬂlﬁ .ent of quantum entanglement ?
Which of the following statement best describes the concept O Iqs . |
(A) Itis the effect of gravitational waves on subatomic particie lh that the state of one particle instan:
(B) It is a phenomenon where particles remain Cﬂﬂl_lcmed suc o them.' :
influences the state of another, regardless of the distance betwe :

(C) It is the theoretical framework explaining tI@hﬂhaviour of particles at speeds approaching the spec
of light.

(D) Itis the process by which particles are hcar@o extremely high temperatures.
3. N O TR AT (VAT) e ad e e

34
In which year was VAT introduced at the State }EE(::] in India ? '
(A= 2006 (B} 2001 o (C) 2005 (D) 2000
32, a5 8 .4f e e o A el e e g o
N © 5 (B)’ st “.
€) mhiy , @) s
\:.hm: n; 1 folowing anguages is ot included in the Eighth Schedule of the Indian Constitution ?
(A} Urdy i E
i e (B) English -
(C) M_Iimj ; (D) Sanskrit 6
{””3 T”ﬁi‘lmm AT8E 340 o aifirg 8 o
A) 159 HAranr .
(©) figdaf s () (B)* Frier sy

Article 340 of the Indian Constitution deals with O S it
(A) Finance Commission :

(C) Backward Classes Commissjon [] o EIEF“““ s :
M. 9§ 2 e (ST TeTm) gy & ol (D) Union Pubjic Service Commission ™
(A) T S A dy
( T 4
E, THTAL-a SATE & IR g B
) Sty e & fe1 e nfepery ;
(D) 3% &g 5 33 Ve et ST s
What jg the ‘Re i . Tk R
) A :, Corridor’ i India 7 i
B) Ay frt::"-‘;l Y zone i the capital = |
(c S ¢d by Naxq|; ISt | .
e _mJJ o ormidor for 'ntefnut?:ah!te-Maum il -
.. _“:ff_g‘l?n Vit et na ‘I‘.ril,de g o Iv.2-24
"= === SUOT S tourigy atiractions j
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(A) wEuoT :

(C) 37 sraerd (Refieraon B Tt ey
(YD) 31 ot

The yellowness of the Taj ;
; j Maha] 1S an ef‘f‘ .
(A) Pollution ectof _ =

=B) Allergens

(C) Ozone depletion
_ | S*(D) Acid rai
Wiy Ugiferen S el Rym 2 9 ] r
ere is the Indian Institute of Petroleum |
ocated'?- D) et
(A) Dehradun (B) Amethi N0 o
ennaj

(D) Delhi

(C) Ea?ﬂéfmﬁq-kaqﬁ;mmm {E; ;_i\mm;hmm

. he Iﬂbﬂl |||(}'¥'e 0O [ I [ :p W (4 1 werm an m
g ment l’gﬁl‘lde E]UEIII! '..‘ om H’S [+ pf_‘ [~ ent {f [hc JI i
=11 Ina[fﬂn

E: ;iIS;rimination and violence against women ? [ )
eminist Movement B
(© LGBTQ+R: a~(B) Black Lives Matter Moveme
+ Rights Mov ' 7
vement |!,_!{D} MeToo Movement

e W e e S owm Ay o0

(A) areufa i [y usft Sl

(©) 3, FREw éﬁim el ¥t
Who is the author of the famous Indian novel ‘Godan’ "

(A) Arundhati Roy *(B) Munshi Premchand
(C) R.K. Narayan (D) Rabindranath Tagore

(D 2016 % femsiao 3 Ao s B A #E 4 ? ’
o i (B) + 37807 STZet Oy FEa= (DL e Hare
Who was the Finance Mini : : AN ration ]

e Minister of India during 2016 demon<ti o
(A) Amit Shah (B) Arun Jaitley g 3@1{(?] Narendra wModi (D) Nirmala Sitharaman

12. SITE %1 Hacis #7722 a
(A) BTz SeavHe effasm T o
B) Wt et i

-

(L1 ERzegra defifasm wadfoe

(D) HEEIEE Fezarer Fefifas T ©

What does SITE stand for ?

(A) Satellite Instructional Television Education .

(B) Source Instructional Television Experilrm:l'-l

(C) Satellite Institutional Television E-:xptflf“"”[|

el < i‘l?‘l‘f”";}:lm]_ﬁ“ﬁmm wnd? () g
3, TSN sftor v (g HIT S TS ) g e i

(A) o (B) «&% b Emife () Dubdi

What is the capital of the Federal ion m'lJ_n'ttL"' AR (©) F-_u_r=_"_"_”_' St

(A) Sharjsh (B) AbuDhabi it |
vz 4




44, Wmm%ﬁuﬁz%ﬁmﬁﬁmﬁmmhw%MWsﬂm%:
o AT e Tt

b, I e oIEE T (ACLS) H HIH | -
o,  Torfoame e At § =paw 2 34 1 S | g
4. S-S S H 60% ¥ | (
€. uﬁﬂm%ma&smaﬁt,ﬂmﬁ%ﬂsﬁﬁwﬁamﬁ:m‘;‘%m%1 |
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el ]
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() e o  feoe 521 HATH &

% gl e i iteria for selection are as follows :
A hospital is recruiting nurses for its Intensive Care Ur@gThE criter’

'a. Bachelor’s degree in Nursing. 5! 3
: % Centification in Advanced Cardiac Life Support (ég:LS)‘

Minimum of 2 years of experience in Critical (;:If\lr ursing.
Score of 60% marks in a competency-based int w.
&~

If the candidate does not have ACLS certification:-ghe case is to be referred to the senior speciili .
If the candidate does not score minimum marks fn:ghe interview. the case is to be referred to Healdl (/f

Nursing Department. . .
If the candidate satisfies all other qualifications @ept work experience, the case is to be referredd |

the Director of the Centre.
Based on the scenario, what course of action should be taken for Priya Singh ?
B.Sc. Nursing, ACLS certified, Scored 63% marks in the interview. Experience of & years incldre’
years in Intensive. Care Units,
(A) Candidate is not to be selected
(B) Case is to be referred to the Head of Nursing Deﬁéﬁtment for further review
(C) Data is inadequate to make a decision ("‘) 51,
(D) Candidate is to be selected for the nursing pusit'tq:l;e

45, Fefoifias § & vt & w0 e o  me sifr o 8 0

() o - g (B) #fe—a= (& e (D) &I -FHE
Which of the following pairs of words are most similari meaning ? ;
(A} Hot- Ceold {B) Hard - Easy {éj‘? Quick — Fast (D) Happy - Sad 5

46, afe 1§ fermr =g @ o % form @% s
T T STTE 3:00 = AR SR 3gH F
e fors e e S 4R e, =g @ 5 2 s & 9 g
@ plane leaves New York for London at 3:00 p.m. (local time) and the flight duration is of

time would the plane land, if[, is
i » 1t London is 5 hours ahead of New York ?
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(A) 1, 40 8T ( ;

(Cy 3, 43 6T (D) 2. 44 HFUE

rain 175 metres long,
A train 105 metres long travels at 60 knyhr. How long does it take to Cross another t

running at 54 km/hr in the same direction ?
(A) 3 minutes, 40 seconds (B) 2 minutes, 48 seconds

(C) 3 minutes, 48 seconds (D) 2 minutes, 44 seconds

UF armuﬁwga—:aw:amawawéﬁ%1wwwmmqﬁﬂﬁﬁ%@m%f*aﬁaﬁﬁ
,m—mra-mavﬂ-qafwv%maﬁaﬁa%mﬁmﬁwmmﬁrm% ﬁaﬁwﬁﬁaﬂmﬁﬂtﬁﬂ

o= (R g w9 ? <0

Two guns are fired from the same place at 3 interval of 9 minuies. A person approaching the place
ohserves that 8 minutes 48 seconds have elap: |between the hearing of the sound of the two guns. If the
velocity of the sound is 330 m/s, at what \pu:d‘ﬁ!ﬁ the person approaching that place (in km/hr) ?

(A) 36 (B) 27 [liey sas (D)e29

.@ e i 3, 60% TE % e 0, ~{=°4I‘Tﬁ3ﬁi%wwﬁﬂ%mtsu,fonﬁaﬁﬁ%uﬁaa%mqaqmq
shyws SE 2 | mn*ﬁqrwfrqﬁaﬂw%tﬁﬁmqﬁaiﬁ%wmm%qﬁ%a
In a village, 60% of families have a cow, 30% of families have a buffalo and each of the 15% of families

has both a cow and a buffalo. In all, there are 960 families in the village. How many f:
> amili
cow or a buffalo ? ¥ €s d':" not have g

(A) 280 (B) 240 (C) 260 (D) 200
61. UF =Hawen o e zu ¥ feuz 6.4 ﬂmmﬂﬁm%la?ﬁﬁlﬁﬁqﬁm%aﬂtﬁm e
7 Z=a £ forem ﬂw.,mwﬁ%mmmm?ﬂﬁ WWW%WWE” e

a

’\_uolr\n an pays ¥ 6 Fper litre of milk. He thcﬁ ;!{id\ water in the milk and sells the mixture

thereby making a 37.5% profit. What is the ‘proportion of wat N?Bpe;-]l
customers o Jil-f F O P mllk* m ‘he ml]k mﬂ\-‘ed b!" :ie
1 (B) 1:10 M (© 1:20 (D) 1:15
62. 135,171, 192 %1 wgew guwade: (HCF) 914 55 |
Find the HCF of 135, 171. 192, [ |
(A) K ;
(B) 10 <€ 9
(D) 3 2
. HEE 99 by
63 < w2 314 Fifsw f 390, 550 ety j?gaf‘mﬁﬁm mﬁmmﬁwaﬂﬁl \q
l:m he greatest number which when dnm: 310, 550, and 728 leaves the ¢ I rmam‘_'l !
b (B) 222 ()22 l?;‘;EZIZ il 1) 21
6d.  UE 335 ey wi
- Hm.: il 17 'ﬂl'r:q | TFvE i L Y T O o Imh"ﬂﬁﬁ&m ..--9‘
| I e
A 335 mere |p;ﬂ'§‘f (B) B0 f'* Hlj Hd] (C) ?'Ti-a'l'ﬁ eIl : (I 1[““@1 ‘ ) é) l
3 M J
s e I.m hrm Irain crosses a pillar in 18 seconds Find the speed of train in km/he o —
o e R (B) 80 km/ hu (C) 77 km/hr (D) 1|\0-ﬁm,’hr 6
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ar 10 wfeard 10 fE A 100 e Y e aFy @ € | 600 WX
3 it%ﬁﬂ SR RATI L ¢ 55 (D) 15
(ay (30 (B) \20 e How many days will 14 men and 20 Worey
l-rfn > 10 women can build ¥¥all of 100 metres in 10 days: |
! Il.-:*‘ o build a wall of 600 metres ? o) 25 days (D) 15 days <
(A) 30 days B) 2Vdays ) e AR, i 64 S Y A P
o, aft 120 2Tt SRRA 6 S o o O e 1 16 ﬁﬂﬁmﬁ?
e e o 15 RS AR oy (D) 157
A) 1698 (B) 17 ' ( );king hours a’day, then the number of hourg pe,
| :tl 120 persons can finish a work withi_n 16 days by':';)withm 15 da}j’s}s :
dav that 64 persons should work ’;-:1}1 finish that same ‘I(C] 12 hours . & (D) 15 hours
A) 16t (B) 17 hours Af Jei et _ |
7 gﬁ%mﬂwﬂmﬁﬂmm% H %WQﬂMWW
6 & . . |
T (T T FR | ?ﬁ?ﬁ[ﬁm 1l g@s at h?s?cDSt price but LFQ; a false weight of 960 gm for each |
A dishonest shopkeeper professes 10 5¢ ! i ',
‘ﬂ:l‘l.[:;ﬂm. What is his gain percent 7 8 E;_Ej_:!j : :
) L L) o Py 1)
A {):..1"'{3":- (B) 4'1_%' (C) 5]? % .ﬂ_*} (D) 94 % q:‘f '&,"-—
68, T A =) L © 15/t 3 % 20/ 1 fwa e 21 ST A <ret i for A 5 e
A % 16,50 Freit 1 i el aTeit 1 v STH T S 3 3’1
In what Tatio must the grocér mix two types of pulses costing ¥ 15/kg and T 20/kg respectively so o |
a mixture of pulses costing T 16.50/kg ? g ‘\ L L ‘
(A) 7:5 (B) 5:7 (Cy-7713 oy 3:7 1 \ |
69. U Tl AT ST W 1 150% T AT T & 37 40% P2 1 @ | Af 7 Ao T 1,600 2, T |
T TN ? R A |
L | i, | R a1 I8 |

71.

72,

13,

%

price is ¥ 1,600 7 ;
i o

(A) €200~  (B) 2500 (C) T3,000 . (D) %2,400
qaa@wfasnwﬁaﬁqtqaﬁaﬁﬁﬁlﬂ%?ﬁaﬁﬁ%l@ﬁ Eﬁmq’{a??

A retailer marks up his goods by 150% and offers a 40% discount. V@at will be the selling price if trhf}%’
I:" o U l.

.gl :
)

20% =T &9 FH 7
By selling an article

forT480, g i ; .-'5': - :
& proft b 2007 man meurs a loss of 10%. At wht price' should he sell it, so that 7t makes

;jm;?;fﬁ e (C) Z600 L‘} v :;} T 664
S ET WGﬂiﬂﬂ‘
Waﬁ#??,song’a}m;&%ﬁ{%%mﬁ? 1ol <h1 St ATfres i £ 10,000 F ST T C

The daverage mont a xp\ﬁ;irmﬂ%? s e
= > of ‘ :
7 WOrKers is % 10,000 and ayergr. CIKETS 10 & Works op is ¥ 8,500, If the average monthly salary &

{:cjrks;;p ig - am': :;er:ie monthly salary of the rest is ¥ T’E?.O’ the total number of workers in @¢ ,
i < -—
T fawet € 2,550 2o G?:TB; ﬁr];‘:; B :f—lu;d t;lae 1sm“esf.lljmnber- 8 B a
stk R T i
Urf y:irzjn igps équﬂ} y“:?;;:spts:ﬁ,i]:f k : ith compound interest aﬁﬁ:e rate of 4% per annum by the end i
e SR R . o)
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C Fo y
( ::imm_ a?mﬁfﬂiw N v iy srfirar gad @ | ga F Hﬁﬁ ﬂ% ?qgum?ﬂ.?w
{L. 4 S PR Refefen U (B) » FHIET e s T e
.;%l,}fmig? ST it W (D) g ATIE D s itstand O L o
(.‘\ IS & Special operation unit of the Central Reserve Police Force-  alions for A
‘(H} Commando Battle o Rccni]iug i (B) Commando : 1f Rapid
t©) Central Battalions for Radical Action (D) Central Battalions 10F
3ﬁl . ol J
SR Frecar e R aniig 2 ey srr & 2 24 ST
5 :T (B) 12l (©) 2091 (D)
N which date is International Literacy Day obgesved 7 th
(A) 8™ September (B) 12th Ja;ruar;.f o (©) 20t March (D) 24 October
37, sftrg i et F w3 e
Leu) (B) * =moTs7g ] (©) e (D) =wet
Who is the author of the famous work “Tantral e
(A) Bhavabhuti (B) Banabhatta (C) Abhinavagupta (D) Dandin ‘
m.@,m.wé@mﬁumﬁ%a@m@ﬁ%maﬂtﬁahﬁ “‘ﬁaﬁmm |
m l 1

(A) TFHIHE FH AUTT (B) CIF ¥ ST

(C) FOB# MR (D) FOR % HAHR T

As per the IMF Balance of Payments Manual, the import and export of goods should be presented on

(A) Ex Works basis  (B) CIF basis
39, Trefafaa 3 & fm @ste) 3@ fifaw |

Find the odd one out from the following.

(A) TVXZ (B) ACEG
40, ST H ST A F1d FHifer |

Find the next number in the series.

144, 169, 196, 225, 7

(A 244 ' (B) 298 e

.;ﬁqaﬂﬁﬂﬁ i, e st 120 9 @
AR | T A 2 T T A

RLU& 1% OO

the white container ?
(A) 60 (B) 30

| R S A A

_ _ A2 1 s e PR oy
In three containers — yellow, white and black, 120 marbles are placed. The FaE

the white and yellow containers combined as there are in the black. co ::

many marbles in the black container as there are in the yellow contaj Mainer. Algo,

(C) FOB basis (D) FOR basis

]\H |
(C) MNOL (D) HILN e i
16 3 %e
a3 5
b I 4
(C) 266 (D) 256 \‘% C

—

Many p, _
ner. How many ; Eb‘“l'ﬁmare at:gles in X
(C) 40 g

qfa @t # A, BRI, C, DATER, B, D Rdew & i sl -
s AT : 18, C, ,B,D & E!}rﬂ'rﬂmnm

ﬂﬁﬂqf"f' ds, A is heavier 2 mm%m}mﬁm

Ameong five friends, A 1s heavier than B, C js %ight g e

not the heaviest, Who among them is the hcavié_pg]?cr than D, B is lighter than p but lke'a'vig]-

(A E (B) B m (C) C 1 ﬂ]aa E, - .
43, T AT E R fom v wfw g Fgl R s’

(A) WA (B) R & (C) FrerEy |

Pick the odd word out from the given list of .,.,.UME. (i (D) ' *

(A) India ' -

e . (C) Colombo
JV'?_-Eq Page ?-1;1'_2_4- Hti
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47,

48,

51
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(A) T (B) foam &
Complete the analogy : ;

s el D) Paint
Pen : Write :: Kmife @ " ©) Stitch ( . —
(A) Cwt (B) Mix maﬁ?@ﬁm
@mﬁmmﬁim@mﬁﬁwm%ww%l i
%lm\%a%agﬂwaﬁmmwﬁm%.ﬁ___r-ﬁ D) 7%
(A) ®) wapHEE (O T f that plane

i ide ©
and 111';:1 the cone that is formed on one s

cone is ¢ oh a plane parallel o its base : ;
A cone is cut through a plane p s Dl called - S

is moved. The new part that is left over on the other b?e) T (D) Cone
(A) Cylinder (B) Fruswm ofacone (G Sphere

e ]

—wiad g F Y o

« 1 A & e ]

frefefiaa 3 & frm sf 2 fr C, MFT ST 2 2 0

+ means ‘is the brother of” .DJ;.

— means ‘is the sister of” :

% means “is the father of®

Which of the following means that C is the son of M ?

Ay MxN-C+F (B) F-C+NxM {Q!.}N-M—FYC (D) M-N=C+F

ek eI Sl 52 o ypesta o 30 e s 2, i s et 3 o v 2 ofR I F WA F R
=TS ¥[E F F qeet 20 612 A faww e 2 I TRGEE 8:00 9 ST TS Ip Far 2 at 98 ygeht
ST H 120 612 S feerer 212 e fare o ggam o & R : il
(A) T8 (B) I 7aS (G Y19 6wt (D) 319 5 &9
A mountaineer ascends 30 feet at the start of each hofir Jthen p; :

i s : ; . pauses to rest and slid y
begimnmg his climb again at the start of the next Imur._ﬁ he starts his climb :1:18'?1];1 es back 20 feet before
he first reach a flag positioned 120 feet above the gro = MU am., at what time wil]
(A) Bpm. (B) 7pm. \

{ 6 p.m (D) 5
- m
mmmmﬁﬁqﬁ&qwmﬁmﬁmﬂaﬁfm%m%| y
Choose the box that is similar to the box formed from the figyure of the sheet of i
S <] Paper given.

| @)
L]
o !
|
[

® .2 i 4
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2. S T Sk R, s O 31 o 6 T ¥ O W vkt e
¥ | it e v T S st @ Tty
(A) 33 30 4 sree 4By 5 A N2 e
(C) 4 31w 3T 3 avver (D) 59 1 stre
The cost of a mango is % 8 each, while a guava costs T 6 each- A woman spends a total of ¥ 5
fruits. How many mangoes and guavas did she buy ? i
(A) 3 mangoes and 4 guavas
(C) 4 mangoes and 3 guavas

53. iR AR vt P ¥ 0

How many triangles are there in the given ﬁE“"‘-*@

B) 5 mangoes and 2 guavag
(D) 5 mangoes and | guava

O
=
[] |
i o)
]
3R
& 26 B) 29 ® p,z? (D) 28 |
e H 9 (31g) Fd Hife |
* Find the odd one out in the series. ‘
~ E5, 19, MI13, P17, U21
) 19 (B) P17 O © vl (D) E5 |
88 oo Pt 4 s e B g ) |
p | Find the next figure in the series from the given gptions. "ﬂ
ANIN f:l [E ?
I 1 All v ¥
®

(A) m (B) m (©) (D) I

56. ﬁﬁa@%waﬁrwﬁﬁamﬁma&m TRy

Find the mirror i ' i i
r image of given figure, if the rmrr@is placed at XY.

: |

a’?.. |

™ a
E |

X 'é‘? ﬁ|

3 |

-----
------------------------------
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74, zaﬁﬁwﬁ#mﬁma%mtln.uma;ﬁﬂqﬁ&nﬁrmﬁwl ik
wnr,,h thcmpﬂﬂﬂdmmtammwfmflﬂ,DWatS%wimmum in2 _.
s (A) 10309309 (B) T10509.€509 (O T10,409.T409 (D) € 10,609, 2

el 3t safeall 1 3T F ST 10 : 6 & vy 379 =99 7 I 18 : 1021 afE 3w 5,200 HRET
b &R o E 0 Bl
The ratio of income of two persons is 10 : 6 and that of their expenditures is 18 : 10. If they save T 3,200
and ¥ 3,600 respectively, their incomes are :

urs pe (A) T9.000;Z5400 (B) 76,000, 23,600 (C) T10,000; £6,000 (D) T16,000; T9600
76, 12% WO ST 3 A6 3% 10,920 FAO(H R R AE R AT

H 17 What annual instalment will discharge a debt 0f 10,920 due in 3 years at 12% simple interest y

(A) %3250 B) 2750 * 8 (©) 3,000 (D) T2,500 ;

for cach IS+ THFAIRS, TH s s THomiR S, TR TeTR S % THF IS, TH 7T & a9 £

o SRS, T wid R, ot Freferfin & - 2l & 6 1, K B d 2 T

Ly 1fS+TmeansISJsthe father ofT;S—TmearE is the sister of T; S % T means S is the mothe

; ﬁ,-—= 8 x T means S is the brother of T, which of theﬁl]owing shows that J is the paternal aunt of K ?

= (A) KxM+L%J (B) J-L+MxK @ (© K%M-L-J (D) K+M-L%J

78. oIF ¥Is3 3@ e |
N?ﬁ:h T : ATH -2 Foge - 2 { .
tr\ - (A) e (B) e el =|1irﬁ4“‘l
I\ Find the missing word. = & e
%ﬂ Apple : Red :: Coal : ? s
(4) Blue (B) Yellow 8 (C) Black (D)
the 79. U HY  smaw v w fmer y@ A
: "‘“Er, fimar. = 0 5 ‘i 3
A (A) & T L (B) firem . s
r&aa (C) A T & (D) wew: el
% iﬁf;ﬂ;; :lon‘ini alternative on the basis of the &:']bn relationship,
e (A) Laugh: Cry ® (B) Fal:s
(C) Disobedience : Punishment (D) Food.-l-t?p@
=t S, T, I, S, o -
ol (A) wmaEr - i
ﬂﬁiﬁmﬁ Find out the relateq wmdl(B],.th!ﬂ s et
o ' Root, Trunk, Leaves, Frujts, 7 O
L A ]
/ (A) Branch :
S (B) Vegetables () (C) Trees (D) Plan
'.':'9 81. ¥ W y 5t b
/ f Wﬂ'@lﬁ? ]
: | em S el oF .
# (Eind the relaed yorg () forbamr () s
ﬂ"PD‘!’wtwnsM L]
ﬂ,d @) N 'S i Manual : 9 *
na T Atura]
o B -,_-,,__(B)_% ® (C) Contols (D) Instructi
ﬂ T e "3
Ll
V -
A —
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In a school, periodical examinations are held every two months. During fle M v
MZWImMmhzmz,aCIassDcsmdentnppemdineachuf_ﬂmepemdm .
below shows the total marks obtained by the student in each periodical exam.

el At T § A Fe 37 = 500
Maximum Total Marks in each periodical exam = 500

SRR $3---zz . e
il (S S (s SRS o SRR T il B
T e R - T oL i
33_0 _____________________________
NN e e i o . il et A o o S e
360 + —330 —————————————— {d-----mmmmmm==
R Y
i e R A S e e
330 +

012001 F-2001 SATEA.2001 FAER-2001 REAR-2001 TEAL-2002
Apr-2001 Jun-2001 Aug-2001 Oct-2001 Dec-2001 Feb-2002
ST 2001 S AR 2001 Fit AaferF wlesit & BT G 16 31T 1 afeerer =0 #

What is the pmeutage-t_:t_'?he mark.:: obtained by the student in the pt:riodi‘n:al exams of
October 2001 combined ? i

J
(A) T78.5% B) 75.5% E%C] 77% (D) 73
ATfei=hT T SEAFH shiferd it R %7 727 710 Fifre | :

o
o | wmg | s | @ || R | amefie
1 12600 +20% 10%6% W R
2 12850 | +25% 15%%|  x S
3 12570 -30% | 12% Y- sl L
4 12200 ~ 10% 20% Z i
(A) 20% (B) 18% () 8% (D)
Sﬂlﬁlf:e table mﬂ% the value for R, L i
les Eni:.'st Marked | Discount | Selling Profit/Loss % ':-'
I __Eﬁ%e;_ Price !:ﬂ Price qud
500 | +20% .
_.2_____&5___ 10% i W R. B
_;__‘ ___I_z;_ﬂ__ + 2504 15% ::".E-; X 5
__4_____?__?__0__ -30% 12% @ Y T
m——ﬂ; ~10% | 209 z -
WERL T et B 1% B © 3% Il ()
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" Sy 4 ; 318 AT a3 S
e e & arat 3T TR ST ST HE FAh i R
Lk L L O

; 1
1 F I s £ : . T ?
M. r‘ A (& e el AT I A3 ¢ ard. L IS Sitting ,
g qrdll AN ASIE ) are sitting around a square table facing outward. L I :
A g i : : diate right
L. M, N arx | I|::1!|u-¢l|':!c right of O, Who is sitting to the iramieciEie |
y the i &

; .I S0 N s sinng It

(B M g P 3 :
i ‘lnfﬁ«:ﬁ?ﬂht BHRIARID CHFfumR s, CRIHRIA Dy
TIC M A B L SRS :

(©) N (DY 1

i 3 o TG

Lp
o o Al
I the dissimilar term C

\. BFB, CIC, DLD, EQE

(B) @& (C) #isft ”}L':nﬁ.r{ 5 - ]
b, of five members, A is B's sister and [_|'~. B’s mother. D is s Father and E 15 C 5 maother H
family of 3t S gt
A\ related o [ d : . ;
yaughter (B} Daughter-in-law | | (C) Niece (D) Granddaughtes Li
s 1T T aReat o 4',-_ 8 T [T ;ﬁFa[(-m 1@11_:'[!‘{?17[?)%; HTJT-{?.’I Jl_ Lc
frarnargw . Sfa ey 2w '—; \\ L i
)R Y Gt 2 (B) USSLET e e F/'\{I S
(C) S5 T - i . (D) FFT: HF -1 {
m the given options, find the pair which is similar to the given pair, ?. N
en pair Davis Cup : Tennis
Federation Cup : Kho-Kho (B) Ryder Cup: Golf __-p; B C |
lames Cup : Car Racing (D) Cue Cup : Snooker Y |
ol Cup g I " / 2
- 140. =551 9% 779 $ifem | 3 é

2 Ay EOI (B) CIC | (C} DLD

(D)_BFB
= . e [ —t Ir i \-‘H' - -y - .
(143 s % S QR ] S ST PQ i ofaTE e & 3 At 3 | 75T PR

E3| ';.:iﬁ[lé IL.‘:E” PO $IeaE 8

HHT HIH 7

{A) 14T

.-rff'r’u::smﬁﬁ|ﬁﬁaf={gRaﬁHaﬁfﬁ1qmﬁﬁméM%ﬂ
(B) 11%h 2" (C) 12 @
In triangle

(D) 10 @t
the side PQ) by 3 em. Length of th

ter is 55 em. The length of the smallest

POR, length of the side QR is
exceeds the length of the side |
side of the irtangle POR s -

(A) 14 cm

less tham' twice the length of
'‘Q by 14 em. The perime

side PR

(B} 1] cm
T H, CAR 7

certam langy

(A) 62118
-

” (C) 12¢m )
142, = ffogg ¥

Ina

10 ¢m

SITH-2 | 34T 991 8 FUR 1 39 sy 3\
How will FUR be

3118 % ¥ 3 fygy
4g¢. CAR is written 4 3118,

written in the same I: nguage ?
B s e e same languag

= E: [(} {;qiiﬁ {[j '*'.'u,”'?
]43, q% 6 3053 293 = ) = [ A Z Fa
f \:4 L2023+ Tﬁﬂ'rf-ﬂﬁrrf-,;qﬁf.:[ 2024 nHm?’FI“:FF-[HTﬁ’q‘qTJ &
(A) dmam _ 2024 F Eakack: SETp
(B) ; 3
What was the day of g, . i o (C) IpFam (D) wifyam
(A) Monday . \:[L;k Dn o April, 2024 ifi6th April, 2023 was Thursday 2
Bne s L T ' Tuesday o (C) Friday (D) Saturday
AHHTT =T AT -,frl- | : J Saturds
I.I'.J..“i,'-‘:?"" dissimilar Number
2.6.24, 120, 540,
(A) 6
~..._ e Sl o I'fil r:fl : S
VZ.24 IR Rt W (C) 24 (D) 540 e vz.a
Page 20 0f24 =~ """ """ EEL RS o S5 o



TTEEETY AN —

T 1 T AE A T 42,500 &

mémlwmﬁmﬁﬁmﬁﬁﬁwwﬁm1
gfEn &1 =99 0
aifen fafw A %‘Vﬁ
|1n,- L= ‘ —
& #0 S-cj
2 U
3 o
1 faferean l_':él ‘E'g j
'L"], ’ 13% OII J',-/
e (') ) f; )
__'jﬁ_._—-# K / F
) B - T
\ 23% - T 3 &
Y O i .] 5

e e o5 o el afte wepm e 3 o 2L 3 e, T S e W

(B) %26,580

(i)
:| / r
(A) T27.860

The pie chart given here

answer the following question if the total mont

Expenditure of Family

Provident Fund

pre -
aﬂﬂﬁ?ﬁ%:

odf
) T24.650 D) 25,075
D () (D)

represents the domestigi@xpenditure of a family in percent. Study the chart and

higncome of the family is T 42,500.

M
12% ~
yf the -.:__I-di
allest Food - a5
Medical 25% Icﬁl |
13% ™~
13
=]
— 4 L"‘.\-
Child .\ House Rent ®
Education |5 18% ;
23% g
& e
5
L

After deduction for Child Education and deduction for House Rent,

remains :

(A) T27.860 (B) %26,580

VZ24

the total monthly income of

(D) ¥25,075

c) 24,650

"“Fage 71 of 24
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128, Fafoer amrea 3 30t fer wifeh i e sy a1 <1 ¢ i e o AT T FLED
s P e, Ly 3] (] ,
(A) e et IS arfa 7 udE v pEY S
o T SRTAT T HTAT-SHT A T T (D) FEIT
(C) FIE §H EHELEE 2 - !
129, T 1 STe FE & o F R AT R ? !
= R (B)* WW
(A) TE I FEW e
. o ST (D) e
(C) el i 3TN 574
o 130, T T s FTFET a8 2 4w |+
% S (A) SIR-¥RTET T e A U 45” q‘g |
(C) ,, BYRTERTE 5l ST 5N (D) TRt s 2 A0 |
oy b
131, TR TR bod : |
- ST HT Yo
(A) T (B) el T (C) IeTHFA (D) o3 ’ //@
oL e
132, o1 =G0TE Fel T I € n
(A) FESFTEE  (B) FWATRIAR (O FAEW (D)= a2 T < £t 5
133, e e A st S 1 3 T A A e o o A A &, A 60% i 45 e 8 ot 3 gl 55 e
| 7 ST 8, et ITe # ard 7 e ot 80 fr 82
Wrsofefiafada @) asfeftafase O () a7 Fefiafadger (D) 48 fopeft wfa e
What 1s the average speed of a man who [rﬁx—'g_i;q between two cities, covering 60% of the distance in
45 mmnutes and the remaining distance in F,‘“\:'ﬁ]mule.\;, where the total distance between the cities is
80'km ? !
(A) 50 kmph (B) 49 kmph ™ (C) 47 kmph (D) 48 kmph
134. Tom g o g s 3 7 ufem i s o 2, 3o e £ ad I 745 EERELIEC i )
] q 45 :
reall L4 et 5 A 7
(A) IT-uiEH (B) afemor () &
A clock with the hour hand : Nt .
A CloEK With the Diour hand pointing West at 3 p.m. will have its minute hand j -7
=1 towards : at 7:45 pimi pointing *
(&) Nl!ﬂh_-‘-‘n'ti[ “ﬂ South (C): East {D) Noﬂh_East
135, =W famwedi H‘{Iﬂ:%zmama%ﬁzmﬁﬁnzﬁmﬁﬁﬁmﬁaﬁmaﬁmﬁam.wm
fem WFE' (49,25, 9)
P L
Find the set of nyp &
e amongst the four options'that is most like the set given | .
e Set given ; (49, 25 9) i ¢ 5¢t given in the question,
gt . 2 ¢
(A) (64,27 g s -
. ' (39,26, 13 oy | 4
136. A B afra 33 4 S 4 (G (36,16, 4) (D) (36, 25, 16)
22 T Waﬂ?ﬁiﬂmwaﬁﬁﬁfﬂwﬁ%wﬁﬁg&wmﬁﬂ AR PR S
y. (A) _'Té'-'['.:;-é f"}_-iﬁl R
o gy A% 3 e ey - ' K
__ﬂ: . .-4. tr’ A I’"”R"J:_'c\ R i ! "-'n?,, 1(.'|.FHT<_'1T '“.)] tﬁ?"
23 YINg, “He is the Inie : "
il A 45 @ male PFSOn, hou . le is the husbangd of the granddaughter of the father of my father.” €
- TS 2 _":"} Cousip 5 B related 1o A 7 :';';- g A
S WL R : : : i '
4 I 24 5 _H_i[’_;‘]‘_i_!i:jtlwr (C) Brother-in-law (D) Graniil 3
b ""|=';.;¢L-'|k,-'m'-ii"" B 0000 =

..

X



e e B o e 45 f g8, h o s B o,
afe #AM

al.

: ‘
|

ﬁaﬁw (B) EEH (@) .0 o |
. re initially facing North-East and turn 45 degrees to your right, what direction are you facing oy
“yiou a
o ®) Wes (C) North (D) East
{Ia e

o7, Frefifiad S § o va A I |

Find the missing term in the following series.

0% 361,289,169, 49
(Vo8 o m ®) 91 Q© 1s ® 121
Ayg T AR b1 dteor ifsre i Freferfian wer
10 25 A E:I—)- ﬂ*ﬁﬂ%ﬂmtﬂ'ﬂ'%
EU/” (!S\ 30 ] 40 O o 7 = A A
7\ 20 []
ﬁ!m:”r:‘;ﬁ?ﬁﬁ#‘r% [ 9@\% ndeliesding)
i
(A) 10—-”}-“' (B) 17 (©) D) 7 |

Examine the given diagram and respond to the following question.

—> Persons who drink tea
10 25 O
20/ 17 (]5\ 30 ) 40 O U Persons who drink coffee
. 7\ 20

&
20 S~ L o
Persons who drink juice

Hiow many individuals drink all three ? ' o8
- (A) 10 B) 17 -n (C) 15

(D) 7 1
Rt S, ST o e e 5 e e T et o e 1 9 e .
m%wmqﬁwmmw@wﬁwﬁm |

T T 9152 : “GENTLEMAN®

In the following question,

you will find four other words provided as alternatives alongside a give? "
One of these words cannot be form,

’ ed using the letters of the given word. Identify that word.
Given word : “GENTLEMAN?”

11

(A) GENEBAL (B) ANGLE C) GLEAM (D) MAGNET
5. T T By ¥l
Fill in the blank. R |
?ﬁ-}ﬁﬂigs, —=ll [] 114

(B) 20 D) _15

% o, Sa:) 25 0 |
(A 115
: ‘m}%;nsﬁ (B) afersm 3R (© amn (D) aferet |
A) Wmﬁmg: ® V3
e (B © far o ik b |

|
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forfier i @ Y01 Teg oY TE g7

b=l

116.

A e (B) @
0. s forfie 1 e AR T8 T A G,
(A) » THF (B) @

(C) ¥4t (D) =T

() =it (D) @v

s, Gfitas § @ fg qrg § o T o ST R T R 2

(A) T g G IR |
(C) HETEAT SR

aftet 5 wreor 3 @ off, Seeft e § v
e F faam 78t 8 7
(A) foersu (B) ferwio

120. ‘FaEway F afy-fesg w7
(A) FfF -+ (B) el + dva
. Fuaw iR s AR 2
(A) FAIIATALI
(C) = (et | 33t |
122. S AT FHET A8
(A) FET-ZR AT

119.

121

(B) WTSTH Agd AU @ |
(D) s AL =T HT @1 2 |

aﬁﬁ%mrﬁmﬁa@aﬁ%aﬁmmmﬁm.ﬂ%

& () s (D), S

ey

(D) =T + Ay

od
[ (© *f+3ar
&8

5]
& (B) lﬁ@%‘mqiqgrtﬂ'-{| |
(D) I Fer @ e

(B) SIdi %l SHFER SHT

B (O T Q.\(Dh@mm
0123, o - qor ¥1e3-77 1 Hel farskeT Ifu %
(A) [T~ SiteT ®) F-AST () - (D) T —z=T :
T Z3 A A 7 A B ke
(A) o ST T T I"ﬁ{ﬁ) T % G 1 3G T R o e
© (et R A fafagam k) T AT T S e &
125. 5= 918 o1 fogmor freferfiaa & & e s o g 13s
ffu AT (B) T " (C) AmEm (D) FFeftE
126. ‘AT FEft % dEE A E 0
(A) FFGEH (B) 391 fuaar (C) , 353y (D) g i
127, Frferfiga & & 2. TTEAT’ 1 Teaw 8 2
() ®f (B) Ffeq ) (©, %7 (D) Fe 1.
9.9 1287 132 werier v f-;
T e TG 5218, e e o e | e e 9 S
i ;:fmmaﬁmm&wmmmﬁwgﬁwwﬁg
Wﬂgmm'“ﬁﬂ?ﬂﬁmm Bt Tt ST & i At & v & | o T
el aﬁftm'ﬁmqgam%quﬁ Hm%%qwgﬁﬁaﬂmmﬁﬁmw L |
g e T I 3 S o 8 e e o e g e P54
Tk et G L Tt L T A '
"""" BheiBorda |
—
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e : 7

"

Y }1_‘ 1 2 ‘

(s - |

2 420071 30% 2400 T 35% = 4200 T x% B, &Y x %657 9 7117 it | 5 |
e 4= ' 2 5 \

petermine the value of x it 30% of 4200 + 35‘!’1.-0]1' 2400 = x%, of 4200, find the value of x. 5’ —_—

(A) S0 B - ). (©) 48 (DLA5

(47, 9T ﬁmm%m$mﬁﬁqmq@:?ﬁmm%ﬁmﬁﬂﬁﬁﬂﬂmmm%i

[E LS

- BN
off
(] was]

— Iﬁ!r%g]

| Tsap

THE

mnm_m%m#ﬁ!ﬁw'mm%’?
A) 724 (B) 68.4° 5 (© 582 (D)e78.2°

Examine the given pie chart regarding production of steel by five states and answer

. S:ate"i%}

the following question

State/B/
:1:.7"'il Qe ?
State(€) ke
E State D %’),,
] State__,F.:}
What is the central angle that corresponds to the é;mductior} of steel by State D ?
(A) 724° (B) 68.4° =8 (C) 58.2° (D) 78.2°

- AT MONKEY % 0QPMGA 37 ZEBRA #t BGDTC % %  Hfi i s &, & DEER =) e 77
Fitsd feram smom 2 o
If MONKEY is coded as OQPMGA and ZEBR{A"FS BGDTC, then how will DEER be coded ?
(A) BGGT (B) OQGT ‘a (C) GFFT (D) FGGT »# \
£ G £ 3R
_ 149. ﬁmﬁﬂrﬁaﬁ?ﬁaﬁuu%ﬁﬂaﬁWiﬂ?{fﬁ-qﬁﬁqaﬁ’rﬁngaﬂ(mﬁ:ﬁwmﬁﬂﬁﬁj“
ﬂﬁtmﬁrﬁwimﬁgﬁﬁ#ﬂwﬁﬂmﬁ#aﬁw | & s e e fean A @ €
(A) 9frem (B) aféror © : iy d then cover®!
From my house, | walked 30 km to the North. Then I turned West and c"lﬂvel“_?d -f:' km ""} .[. nding o7
10 km turning South. F inally turning to the East, I covered 20 km. In which direction am [ standif:
my house 7 tasth
{'j“} w th\ (B) South (C) East (D) Nort

150. sjmem 2712, 36,80, % qu i
Completd®the series 2, 12, 36, 80, : -

oo 30Y 120 (B) 140 (C) 130 ""_“_"_(P_}nl_f:? __________ v
S T e s Vi
N A
— A AT ‘?-«"i, 9y



